Stogr Yol — 420 17 o

S vp-Dge ™

_ex Geomedic Dist. :..9__”2_\_ D o f _ﬂ___.__h_ﬂ.'_
et W) = FPC‘I‘) =2, X7 :H;«Pltps needed+o
gex |3 pexd. 1 —

CPO¥=n]- (2.) HCQ
o&d#aﬂ%‘hp\s B

rixedwssa..f|=5 % |

_ Toke e fyanskormadion Y wheve .

¢ soppose we ww * F hw 18 jgad

B\I 5 \ \} appeans oVt o Qe 3ol Lilps

. $\>ppose we (ose 81 i€t ‘L‘*M&d B
@peaxs o A odd # of £lps

\f 8(;7() ? - tQ y lsedd
C 4

B x‘-\l%%?,_
L8 N is eved
BB oM (08”_,‘,,__,

ol o M-l Actwn? NO

B V| =R VAN R D\‘lt”f,l)_g?[jﬂﬂ‘l g
| AR Eixe 31,350, }j

Pyle)= T T EE
TP )3 ify= | U) E)[X_é {3 4,6, 8,,_”.
e NP RALR. 4]

N CWE NS, v TXan v
exX of o AN on NoY NG ssan Saiple E‘WM T



@

Soe L1~ Conchpunue RS

del Y Cone. RN

T A R e confnuous i ts
COF, Fy (D s oo continuous
fonckion Lo okl xeR
CVLD AAsconthinauies) .

— e oJ &

SO R B SR S

= [ X=x]|
| =l -~ < X=x |
@ ?ro\ocﬂo\\iw T)@(\%\*ﬂ funchion C?DF)

tedl X e oo conthimucusy N .
The pdd of X s guen oy

Ropexties oL o PDE

”(?1((’&7 15 COMINLGUS
(2D f%((%ﬁ Z0  Kor 0l —eodsw<so




=\

-—
T

o

—
r—

Y. %

B

Aceq. onder” covve




tg s = PLas X2 6|
=Plac X<b]
-::Jb@X('x)OK?G

g}g@ Soppt %\S@; O ContiautLs

—> oNSIsts of ol pownts
LW Tnade

Ry le) 208
Denorte bfj S

Meskt wes S D
- Bok ot OLMUCL;\Q%

e s OJLUJCL%& roe nat S “—_D



®
J Continuo s Unidorna ™k, __'”_h_ﬁf;f_ﬁ

C Seleck o ¥ ot vandsp ek
aome (ereval (e ol

)( lepresendts e sutlome .
(™ Space of X S

O 2D Y-
= X_é_@:) o

. Cosear W os=x<b

Q@% AL x=zb
'\;—FCX%O TP(X&\DJ@) \






Bpoice, 1S \pv\:eﬁe £ 20 |
SUPPDW . £ >0 @

" S\)ppoéé NS 0o Cb\r\% NV

e N =al OO be anotnen cont. BN

_ Boal' Find tne pdd of N -
Detev wane S&)@@b\/"r/ SPQCQ.. o \f

- ® Bnd twe COF of Y

o Uge CDF 4o tnd POE -

£ Sopeose By () = ? 7, lemel
FE M A & 3

e '\4 = ><‘“

@ Lotk ax -\ f><_<Y -
. B oékj < | < splle .

@ CoF ef \}




@

Yy, O=9y <]
lpd=y
ARd PO __
| _ ) |
N = N mEg , 05YyLl
O 0N |

Mixdove  OF RIS
— Coplones disaceke + coninueus,

o\ ™ K <O
— FX (743 _oa LN ’ ,
By, 0Exa)

g \? e
N

-

Fx
tove . \

B

2
|
S \

Sy
e




_ ® A P-3< XA -
e r o i \
=F(B3) — F(-3)
— = O
4

(3 And RLX=c] =F(0)-F(o-)

TN - 23(@(‘1)1%{’

T Y _ Troun Sy pa L ov -




